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1 

ورقة عمل 

الرياضيات

 :جد ناتج ما يلي: 1س

① 
1 7 5 

② 
3 0 7 

③ 
6 1 9 

× 4 × 5 × 3 

 :عدد المناسب في ضع ال: 2س

① 
2 3

1

 5 
② 

4  3 

6 

③ 
9 3 

× × × 

 7 0  5 9 9 3 

  (75)ينفق علي : 3س
ً
 بوميا

ً
 ينفق في قرشا

ً
 أيام؟ (4)، كم قرشا

 ق: 4س
 
 ر ناتج ما يلي:د

①  3 1 9 → 3 0 0  ②  7 5 3 → 8 0 0

× 6 → ×         6   × 4 → ×           4 

1 8 0 0 3 2 0 0 

به:ف الخطأشاكت: 5س
 
 ، وأصو

3  8 3
4

 8 

× 5  ×      5 

1 5 0  1 9 0 
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ورقة عمل 

الرياضيات

 :جد ناتج ما يلي: 1س

① 
1
3

 7
2

 5 
② 

3 0
3

 7 
③ 

6 1
2

 9 

× 4 × 5 × 3 

7 0 0 1 5 3 5 1 8 5 7 

 :عدد المناسب في ضع ال: 2س

① 
2 3

1

 5 
② 

4
1

 3

1

 3 

6 

③ 
9 3 

× 2 × × 1

4  7 0 2  5 9 8 9 3 

  (75)ينفق علي : 3س
ً
 بوميا

ً
 ينفق في قرشا

ً
 أيام؟ (4)، كم قرشا

7
2

 5 

× 4 

  
ً
 0 0 3      قر شا

 ق: 4س
 
 ر ناتج ما يلي:د

①  3 1 9 → 3 0 0  ②  7 5 3 → 8 0 0

× 6 → ×         6   × 4 → ×           4 

1 8 0 0 3 2 0 0 

به:ف الخطأشاكت: 5س
 
 ، وأصو

3  8 3
4

 8 

× 5  ×  لم يحمل باليد 5     

1 5 0  1 9 0 






